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Grundstücksfläche = 1288m²

Parkplatz 
50 m², c = 0,7
Qr5,2 = 0,82 l/s

Zuwegung und Parkfläche
87 m², c = 0,7
Qr5,2 = 1,42 l/s

Zuwegung
17,5 m², c = 0,7
Qr5,2 = 0,29 l/s

Rampenfläche 4.2
20,50 m², c = 1,0
Qr5,100 = 1,16 l/s 
+QrÜberlauf zu 4.2 = 0,40 l/s
Gesamt: 1,56 l/s

Rampenfläche 4.1
12 m², c = 1,0
Qr5,2 = 0,28  l/s
Qr5,100 = 0,68  l/s
QrÜberlauf zu 4.2 = 0,40 l/s

Dachfläche 1.1
170 m², c = 1,0
Qr5,2 = 3,97 l/s
Qr5,5 = 5,38 l/s
Qr5,100 = 9,63 l/s
QNot = 4,25 l/s

Dachfläche 1.2
170 m², c = 1,0
Qr5,2 = 3,97 l/s
Qr5,5 = 5,38 l/s
Qr5,100 = 9,63 l/s
QNot = 4,25 l/s

Dachfläche 3
112 m², c = 1,0
Qr5,2 = 2,61 l/s
Qr5,5 = 3,55 l/s
Qr5,100 = 6,35 l/s
QNot = 2,80 l/s

Dachfläche 2.2
48 m², c = 1,0
Qr5,2 = 1,12 l/s
Qr5,5 = 1,52 l/s
Qr5,100 = 2,72 l/s
QNot = 1,20 l/s

Dachfläche 2.1
40 m², c = 1,0
Qr5,2 = 0,93 l/s
Qr5,5 = 1,27 l/s
Qr5,100 = 2,27 l/s
QNot = 1,00 l/s

Befestigte Fläche
(Ableitung RW in Grünfläche)
30m²

Flächenzusammenstellung:

Grundstücksfläche = 1288m²

Befestigte Fläche = 727m²
Abflußwirksame Fläche = 680,7m²
Grünflächen = 561m²
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